
Name __________________________________ 
 
Please answer all questions and show all work. 
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Calculate.  If not possible, put undefined: 

1)  A + B   2)  3B    3) AC         4) 
31
42 

  

 
 
5) AE                6)  AD            7) B + D   8)  B – 2A 
 
 
 
Perform the following row operations beginning with matrix A and using your answer to each problem as the 
matrix for the next. 
 

9) –2R2 + R1  R1         10)   R1  R2    11)  1
10

 R2 

 

__________  12)  Given the matrix 
1 6 5
2 3 1
0 2 4

 
 
 
  

  calculate the determinant.    

 
Show your work. 

____________________13)  Given that the augmented matrix  
1 3 1 8
0 3 1 11
0 0 4 8

  
 
 
  

  represents a system of  

                                             equations,  give the solution to the system of equations as an ordered triplet.  
 
 
  
14.  a.   Solve the following system algebraically:    x – 2y + 3z = 4 
       b.   Solve the following system, using matrices:     2x + y – 4z = 3 
         -3x +4y - z = -2 
Solve the following using matrices:  
 
15.   2x – 3y = -4   16.  5x + 2y – z = -7 
        5x + 7y = 1           x – 2y + 2z = 0 
             3y + z = 17 
 
 
 
17.  -2x + 3y – z = -1   18.  -2x + 3y – z = 4     19.    x + y – z = 0 
            x – 2y + z = 3                   2x – 3y + z = 1                    3x – y + 3z = -2 
                 x + 2y – 3z = -1 

 

Using yourgraphingcalculator

ALPHA200N'mdIx

and
MATI

95 i3

5b At putmatrixA inanduse 34

matrixmen
801USD

math
Birret

53

1 I
1

Do Now: #1- 4
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